

BD 5.5

$$a) \quad v_g = \frac{\partial \omega}{\partial k} = v - \lambda \frac{\partial v}{\partial \lambda}$$
$$= \frac{\partial \omega}{\partial \lambda} \frac{\partial \lambda}{\partial k}$$

$$\frac{\partial \omega}{\partial \lambda} = \frac{\partial}{\partial \lambda} \left(\frac{2\pi v}{\lambda} \right) = 2\pi \left(\frac{1}{\lambda} \frac{\partial v}{\partial \lambda} - \frac{v}{\lambda^2} \right) = k \frac{\partial v}{\partial \lambda} - \frac{k v}{\lambda}$$

$$\frac{\partial \lambda}{\partial k} = \frac{\partial}{\partial k} \left(\frac{2\pi}{k} \right) = \frac{-2\pi}{k^2} = -\frac{\lambda}{k}$$

$$\text{so } v_g = \frac{-\lambda}{k} \left(k \frac{\partial v}{\partial \lambda} - \frac{k v}{\lambda} \right) = -\lambda \frac{\partial v}{\partial \lambda} + v$$

$$\boxed{v_g = v - \lambda \frac{\partial v}{\partial \lambda}}$$

$$b) \quad v_g = \frac{\partial \omega}{\partial k} = \frac{\partial}{\partial k} \left(\frac{ck}{n} \right) = c \frac{\partial}{\partial k} \left(\frac{k}{n} \right) = c \left(\frac{\partial \omega}{\partial k} \right) \frac{\partial}{\partial \omega} \left(\frac{k}{n} \right)$$

$$v_g = c v_g \frac{\partial}{\partial \omega} \left(\frac{k}{n} \right)$$

$$1 = \frac{c}{n} \frac{\partial k}{\partial \omega} + ck \frac{\partial}{\partial \omega} \left(\frac{1}{n} \right)$$

$$n = c/v_g - \frac{ck}{n} \frac{\partial n}{\partial \omega}$$

$$n + \frac{ck}{n} \frac{\partial n}{\partial \omega} = \frac{c}{v_g} \Rightarrow v_g = \frac{c}{n + \frac{ck}{n} \frac{\partial n}{\partial \omega}}$$

$$\boxed{v_g = \frac{c}{n + \omega \frac{\partial n}{\partial \omega}}}$$